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9.

Which organisms are omnivores? 

 A. blue jay and red fox
 B. mouse, blue jay, and grasshopper
 C. red fox and great horned owl
 D. grass, grasshopper, spider, blue jay, and 
  great horned owl

8.

Which is a logical food chain from this food web?

 A. oak tree → blackberry bush → grass
 B. oak tree → mouse → red tailed hawk → great 
  horned owl
 C. blackberry bush → mouse → red fox → oak tree
 D. grasshopper → blue jay → mouse → oak tree

10. Consider the food chain below.

 grass → grasshopper → spider 

What might happen if the spiders were taken away?

 A. The grasshopper population might increase.
 B. More grass might be eaten. 
 C. Grass might eventually become scarce.
 D. All of the above
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